OBELBIHERUVBHEONRILFMERIRFHER
2. RXEHEXDRIDEE

(RE - RlIERBER)

x2—-1 =£H - %E5H
(1/27:=%)
REREMB(E) - o = o e
WEmE R E (kg/F 0 ATV | FHEBEE (g/F 5 (1VRIE | Figkd - BEIBAE (ko/&F;
mg-TEQ/4F) mg-TEQ/ ) y 45yV 4R IEmg-TEQ/ &)
e %E EX7
mE —_— oA [ 214 J1erA 20K 501 A | oA | 214 [101 | 201 A 501 A ] oA | 214 101 A 201 A 501 A | oA | 218 [101A 201 A | se1A | oA | 21A [101A 200 A | 501 A | oA | 214 | 1014 | 2014 | 5014
= Y\ -~ ~ ~ -~ ~ ~ -~ ~ ~ -~ -~ ~ -~ -~ ~ -~ ~ ~ -~ ~ ~ -~ -~ ~ -~ -~ ~ ~ -~ ~
&S 20X | 100A | 200A | 500 A 20 | 100A | 200\ | 5004 20\ [ 100 | 200 | 500A 20X | 100 | 200\ | 5004 201 | 100A | 200A | 5004 20X | 100A | 200\ | 5004
1EADKBEMAL S 0 0 0 1 0 0 0 0 0 of o 0 0 1 0 0 0 0 2 0 0 0 0 0 0 0 0 0 2 0
MB3—AYITPFIAFIL-3, 5, 0 0 0 0 0 0 0 0 0 of o 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
S5—hNUXFLYIONFD I =4
VYT R—b
BlrFixvEy 0 71 5 1 0 5 8 5 1 0 71 5 1 o 3200 eo00s| 4319 30000 of 69| 1764| 2734 1300 o 3869| 7769| 7053 31300
el s 0 0 0 0 0 0 0 0 0 of o 1 0 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
8l4 ooy —HnFOS5o 4 L 0 0 0 1 0 0 0 0 0 of o 0 0 1 0 0 0 o 1100 0 0 0 0 0 0 0 0 o 1100 0
8> LY 0 8| 12 5 2 0 6| 10 5 1 0 8| 12 5 2 o e553| 4350| 9340 19695 of 1018 3178| 3450 650 o 7570| 7528 12790| 20345
134|BERR E = L 0 0 0 0 0 0 0 1 0 of o 0 1 0 0 0 0 0 0 0 0 of 310 0 0 0 of 310 0 0
186|oonoxyy (REELEAFLY 3l 13 2 3 0 2 6 2 0 of 3 13 2 3 o| 3833| 8962| 6350 6000 of 407| 328| 300 0 o| 4240 9200| e650( 6000 0
)
200|2F L v 0 2 1 1 1 0 1 0 0 1 0 3 1 1 1 o 997 190| 1300 14000 0 3 0 o| 10000 o 999| 190| 1300] 24000
2434 U 1l 2 3 0 1| 12 2 3 of 1| 15 2 4 o o.94f12.501| 13.15[6.1175 of 1.1[0.0657| 0.514f0.0375 o 2.04|12.567|13.664|6. 1550 0
U EREd 333333 036 00185 036933 00185
3333 3333
296[1, 2, A—FYXFIRVEY 0 5| 4] 2 2 0 4l 4 2 1 0 5| 4 2 2 o 3140| 1480| 9250| 1504 o 348| 950 490 50 o 3488| 2430| 9740| 1554
297|1, 3, 5= RFYAXAFIRVEY 0 2 1 2 0 0 3 1 2 of o 3 1 2 0 o 7s3| 84| 2695 0 of ss7| 720 131 0 ol 1310 84| 2826 0
28| Ny LYSAY ST R— R 0 0 0 1 0 0 0 0 2 of o 0 1 3 0 0 0 0 0 0 0 0 of 13 0 0 0 of 14 0
300\ 1 13 7 3 0 1 7 5 3 0 1 13 7 3 0 1100 2140| 6112] 19907 0 44 350| 4113 773 0 1144 2490| 10224| 20680 0
2|+o4 Ly 0 1 0 2 0 0 1 0 1 of o 1 0 2 0 o 230 o| 860 0 of 40 of 38 0 ol 270 o| s98 0
305 |80 0 0 0 0 0 0 0 0 0 1 0 0 0 0 1 0 0 0 0 0 0 0 0 0 61 0 0 0 of 61
06— 74 YIBAFHAFLY 0 0 0 0 0 0 1 0 0 of o 1 0 0 0 0 0 0 0 0 of 50 0 0 0 ol 0 0 0 0
308|=w 7L 0 0 0 0 0 0 0 0 0 of o 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
309|=w A LL S 0 0 0 0 0 0 1 0 0 of o 1 0 0 0 0 0 0 0 0 of 23 0 0 0 ol 23 0 0 0
32| /LRI —~FH Y 0 2 1 3 0 0 1 0 1 0 0 2 1 3 0 o| 3300] 500| 1900 0 o| 370 0| 310 0 o| 3670| 00| 2210 0
MolRYy (FFxvTFLY) =/=07 0 1 0 0 0 0 1 0 0 of o 1 0 0 0 of 14 0 0 0 0 3 0 0 0 of 17 0 0 0
ey | e i | 2
M|FILLTILTE R 0 1 1 3 0 0 1 1 3 of o 1 1 3 0 ol 3so| 31| 783 0 of e8| 00| 110 0 o 448 531 894 0
220|X 5 45 1) JUEE X F )L 0 2 1 1 1 0 0 1 0 of o 3 2 1 1 o 1843 50| 2600| 4700 0 o| 4250 0 0 o 1843| 4900| 2600| 4700

BEHEE - TR26EE




OBELBIHERUVBHEONRILFMERIRFHER
2. EXEHXDBOKEF (RE - RERBEF)

x2—-1 =£H - %E5H

(2/2R=Y)
WEBEMRB() o . o s e
WEmE TP E (kg/5F ;5 (1 VRIE | TIORENR (ko/5F ;4 AH0VRIE | 9B - BEIBAE (ke/5F;
mg-TEQ/4F) mg-TEQ/4E ¥ 414y v4RIdng-TEQ/ 5F)
HE BE ESE

mE —_— oA | 214 [101 0201 A [501A | oA | 21A 1014|201 A 501 A 0A | 214 [101A 201K 5014 oA | 214 [101A f201A | 501N | oA | 21A | 1014 2014 | 50TA | OA | 21A | 1014 | 201A | 50T A

&S ” 20A [ 1004 | 200 | 500A 20A [ 1004 | 200A | 500.A 20A | 100A | 2004 | 5000 201 | 1004 | 2004 | 5004 20\ | 100 | 2004 | 5000 201 | 1004 | 2004 | 5004
38IAFIFTHL Y ol o 1 of o of of of o of of o 1 ol o 0 of 15 0 0 0 0 0 0 0 0 of 15 0 0
MIAFLVER (4, 1—=7xz=LV 1 0 1 0 0 1 1 1 1 of 1 5 5 3 of 72 0 3 0 0 21 I T:1 - /] B of 7| 18| s3f 17 0

) =VAVITR—b

&5t 6| e8| 45| 36| 7| 5| s| 36| 28 5| 6| 84 s3] 44| 8| s005| 31511 25770 G0057| 69899| 55| 3844 16116| 8066| 12061| 5460| 35354| 41885| 68123 81960

BEHEE - TR26EE



